Hendicap Regulers: 100 Subs: 100

Number ofscores handicop based on &

Minimum number ofscores needed before & hendicap can bo calculsted. 1
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|<<DON has ? scores prior to event #8

The. for are calculated
Adusted se Couse
Date xS o Slope
06212 Ew# @ ForVuBeck w30 120
062112 Ewss 45 ForVuFront w0 106
061412 EwsS @ FarVuBe w0 120
060712 Ev#d 45 ForVuFront woB0 106
053112 E#3 47 FarVuBeck w0 12
05412 EaR 45 FerVuFront w0 106
0SN712  EaN 47 ForVuBeck w30 120

The equation o cakuaing G

Ottt Sems - B ¢ 13755001

3. Use the

llculate a handicap.

Diferentiels 'used" are added together.
94010749.4+10794410 7494697

“Then divide by the total number used
P l

re-Handicap =697/ 7

Pre-Hondicap = 4957

DONis & reguler player. so according o e

handicop setup the Hondicap

Hendicap = 9357x100

Parcentis 100

/50 the undarlined parameters are used to determine

94 Used
107 Used
94 Used
07 Used
94 Used
107 Used
94 Used

Hndicap » 935 (Digis ster hundredth place are deleted)

Hendicap = Handicap x Slope/113)
Handicap = 995x(106/113)

Hendicap « 934

Einal Handicap = 8.34

(FarVuFron)

k=t
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Handicap Regulers: 100 Subs: 100
Number of scores hendicap based on 8

Wol Scores Dicard  Discard

Adusted
Date S

6Z812 E#T 4 FerVuBack
22 Ews 45 FerVuFrom
412 EMAS 4 ForVuBack
U2 E#d 45 FerVuFiont
O5BI2 E# 4 FerVuBack
R4z Ewe 45 FerVuFrom
52 EwA 47 FerVuBack

The squintor

cautng a dsert s
0= dused s Scoe - Rt 0113/ Spe)
8. Use the differentials to calculate a handicap.

Diferentels 'used' re acded together.
99+101:39+101+38+101+99 =699

“Then dids by he ol umber sed

Pre-Handicap =693/ 7

Pre-Handicep = 9986

DONis areguler plye, so accarding othe
hendicap setup the Hondicap Percentis 100

Handicap = 386100

sssssssff

a0

Handicop = 9 (Digs serhucrecth place re delted)

Used
99 Used
01 Used
99 Used
01 Used
99 Used
0 Used
99 Used

(Fer Vi Frong

course’
Handicap « Handicep x(Siope /113)
Handicap » 938x(112/113)

Handicap » 989

Final Handicop = 9,83
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